
Book Print

PTC Servigistics InService

Printed 2020-06-04 at 06:24:40



This page intentionally left blank

PTC Servigistics InService

Printed 2020-06-04 at 06:24:40



Contents

P-674-A - INDEX OF SUB ASSEMBLIES ........................................................................................................................ 5

P-674-C - CASE FRONT ASSEMBLY & DOOR ................................................................................................................ 8

P-674-D - DIVIDER PANEL ASSEMBLY ....................................................................................................................... 16

P-674-E - BASE & CENTER ASSEMBLY ........................................................................................................................ 22

P-674-F - CASE BACK ASSEMBLY................................................................................................................................ 28

P-674-G - WRAPAROUND ASSEMBLY ........................................................................................................................ 32

i



ii



P-674-A - INDEX OF SUB ASSEMBLIES

P-674-A
INDEX OF SUB ASSEMBLIES

Количество: 1

 

1 P-674-C
CASE FRONT ASSEMBLY & DOOR

Количество: 1

2 P-674-D
DIVIDER PANEL ASSEMBLY

Количество: 1

3 P-674-E
BASE & CENTER ASSEMBLY

Количество: 1

4 P-674-F
CASE BACK ASSEMBLY

Количество: 1

5 P-674-G
WRAPAROUND ASSEMBLY

Количество: 1

1 / 3
5



P-674-A - INDEX OF SUB ASSEMBLIES

P-674-A
INDEX OF SUB ASSEMBLIES

Количество: 1

 

2 / 3
6



P-674-A - INDEX OF SUB ASSEMBLIES

P-674-A
INDEX OF SUB ASSEMBLIES

Количество: 1

 

Лист: P-674-A.jpg
x-wc://file=P-674-A.jpg / P-674-A_en-US.jpg

3 / 3
7



P-674-C - CASE FRONT ASSEMBLY & DOOR

P-674-C
CASE FRONT ASSEMBLY & DOOR

Количество: 1

 

9SG6447-1
CASE FRONT ASSEMBLY

Количество: 1

1 9SG6456-1
CASE FRONT

Заменена
Количество: 1

2 9SG7113
NAMEPLATE

Количество: 1

3A 9SG6525-3
HANDLE

Заменена
Количество: 1

3B 9SM22463-2
HANDLE SUPPORT BRACKET

Заменена
Количество: 1

3C 9SS9225-91
THREAD FORMING SCREW

Количество: 4

4A 9SM22515
OUTPUT STUD

Количество: 2

9SS9262-98
PLAIN WASHER

Количество: 8

9SCF000015
1/4-20X1.00HHCS

Количество: 4

1 / 8
8



P-674-C - CASE FRONT ASSEMBLY & DOOR

P-674-C
CASE FRONT ASSEMBLY & DOOR

Количество: 1

 

9SE106A-2
LOCK WASHER

Количество: 4

9SCF000017
1/4-20HN

Количество: 4

6A 9ST12287-20
CIRCUIT BREAKER

Количество: 1

6B 9SS22061-3
SEALING BOOT

Количество: 1

7 9ST10800-4
SWITCH

Количество: 3

8 9ST13562-1
CONTROL CIRCUIT POLARITY SWITCH

Заменена
Количество: 1

9SS22061-4
SEALING BOOT

Количество: 4

9A 9SS23093-1
LED LENS

Заменена
Количество: 3

9B 9SS23094-1
LED RETAINER

Заменена
Количество: 3

2 / 8
9



P-674-C - CASE FRONT ASSEMBLY & DOOR

P-674-C
CASE FRONT ASSEMBLY & DOOR

Количество: 1

 

9SG6897
MAIN CONTROL HARNESS

Количество: 1

10A 9SS12021-70
BOX RECEPTACLE, SOLID SHELL

Заменена
Количество: 1

10B 9SS12021-68
CONNECTOR

Заменена
Количество: 1

9SS8025-62
SELF TAPPING SCREW

Количество: 4

10D 9SS17062-10
AMPHENOL CAP

Заменена
Количество: 1

10E 9SS17062-11
CAP-CABLE CONNECTOR

Заменена
Количество: 1

9SL15824-1
POTTED CONTROL HARNESS

Количество: 1

12 9SL10952-2
METER BOARD ASSEMBLY

Количество: 1

13 9ST10491
KNOB

Количество: 1

3 / 8
10



P-674-C - CASE FRONT ASSEMBLY & DOOR

P-674-C
CASE FRONT ASSEMBLY & DOOR

Количество: 1

 

9ST13483-34
“O” RING

Количество: 1

14 9ST13639-3
KNOB

Количество: 2

9ST13483-34
“O” RING

Количество: 2

9SS28393
OUTPUT SNUBBER ASBLY

Заменена
Количество: 1

16A 9SCF000010
#10-24HN-4265

Количество: 2

9SE106A-1
LOCK WASHER

Количество: 1

9SS26124
GROUND REFERENCE

Количество: 1

9SS18250-994
PLUG & LEAD ASSEMBLY

Количество: 1

9ST13657-3H24
LED FORMED

Количество: 1

4 / 8
11



P-674-C - CASE FRONT ASSEMBLY & DOOR

P-674-C
CASE FRONT ASSEMBLY & DOOR

Количество: 1

 

9ST13657-2H24
LED-T-1 3/4REDHLMP-3301-F00dd

Количество: 1

9SS23740-13
LED PANEL MOUNT ASSEMBLY

Количество: 2

9SM25020-1
LINE SWITCH LEAD ASBLY

Количество: 1

19A 9SS20030
LINE SWITCH

Количество: 1

19B 9SS25384-1
SWITCH COVER

Заменена
Количество: 1

9SCF000137
#6-32X.75RHS-FULL-GR2-3445

Количество: 2

9ST9695-2
LOCK WASHER

Количество: 2

21A 9SG6879
DOOR

Количество: 1

9SS9262-27
PLAIN WASHER

Количество: 1

5 / 8
12



P-674-C - CASE FRONT ASSEMBLY & DOOR

P-674-C
CASE FRONT ASSEMBLY & DOOR

Количество: 1

 

9ST9187-13
1/4-20 HLN

Количество: 1

22 9SG7113
NAMEPLATE

Количество: 1

24A 9ST11827-67
CARRIAGE BOLT

Количество: 2

9SCF000067
3/8-16HN

Количество: 2

9SS9262-120
PLAIN WASHER

Количество: 2

9SE106A-16
LOCK WASHER

Количество: 2

6 / 8
13



P-674-C - CASE FRONT ASSEMBLY & DOOR

P-674-C
CASE FRONT ASSEMBLY & DOOR

Количество: 1

 

7 / 8
14



P-674-C - CASE FRONT ASSEMBLY & DOOR

P-674-C
CASE FRONT ASSEMBLY & DOOR

Количество: 1

 

Лист: P-674-C.jpg
x-wc://file=P-674-C.jpg / P-674-C_en-US.jpg

8 / 8
15



P-674-D - DIVIDER PANEL ASSEMBLY

P-674-D
DIVIDER PANEL ASSEMBLY

Количество: 1

 

9SG6458-1
DIVIDER PANEL ASSEMBLY

Количество: 1

1 9SG6459-1
DIVIDER PANEL

Количество: 1

3A 9ST13637-6
DIODE-BRIDGE, 35A, 400V, F-W, 1-PH

Заменена
Количество: 1

9SS9225-100
#10-24X.75 SCREW

Количество: 1

9SM22062
INPUT RECTIFIER ASSEMBLY

Количество: 1

4A 9SM15454-16
DIODE-BRIDGE40A1600VF-W3-PH

Количество: 1

9SS9262-98
PLAIN WASHER

Количество: 2

9SE106A-2
LOCK WASHER

Количество: 2

9SCF000013
1/4-20X.625HHCS

Количество: 2

1 / 6
16



P-674-D - DIVIDER PANEL ASSEMBLY

P-674-D
DIVIDER PANEL ASSEMBLY

Количество: 1

 

5A 9SS13000-109
AUXILIARY TRANSFORMER

Количество: 1

5B 9SS9262-98
PLAIN WASHER

Количество: 4

5C 9SS9225-90
THREAD FORMING SCREW

Количество: 4

6A 9SM22500
TRANSFORMER LEAD DETAIL

Количество: 1

9SS9225-99
SELF TAPPING SCREW

Количество: 2

7 9ST12380-4
BUSHING

Количество: 2

8 9SS28388-1
INPUT CONNECTION DECAL

Количество: 1

9A 9SS20763-3
TERMINAL BLOCK

Количество: 1

9SCF000193
#8-32X1.25RHS

Количество: 2

2 / 6
17



P-674-D - DIVIDER PANEL ASSEMBLY

P-674-D
DIVIDER PANEL ASSEMBLY

Количество: 1

 

9ST9695-3
WASHER,#8 LOCK

Количество: 2

9SCF000042
#8-32HN-4265

Количество: 2

10A 9SS28454-9
CONTROL BOARD ASBLY

Заменена
Количество: 1

10B 9SS9225-76
THREAD FORMING SCREW

Количество: 2

9ST11525-1
SPEED NUT

Количество: 2

11 9ST13260-4
DECAL-EARTH GROUND CONN

Количество: 1

13 9ST11019-9
RUBBER CHANNEL

Количество: 1

15A 9SL16007
FILTER BOARD ASBLY

Количество: 1

9SS9225-90
THREAD FORMING SCREW

Количество: 2

3 / 6
18



P-674-D - DIVIDER PANEL ASSEMBLY

P-674-D
DIVIDER PANEL ASSEMBLY

Количество: 1

 

17 9SS18491-1
MOV ASSEMBLY

Количество: 1

9SS18250-995
PLUG & LEAD ASBLY

Количество: 1

21A 9SM22618-2
PRECHARGE PC BD

Заменена
Количество: 1

9ST9187-13
1/4-20 HLN

Количество: 2

22 9SL15928
INPUT BOARD MOUNTING BRACKET

Количество: 1

4 / 6
19



P-674-D - DIVIDER PANEL ASSEMBLY

P-674-D
DIVIDER PANEL ASSEMBLY

Количество: 1

 

5 / 6
20



P-674-D - DIVIDER PANEL ASSEMBLY

P-674-D
DIVIDER PANEL ASSEMBLY

Количество: 1

 

Лист: P-674-D.jpg
x-wc://file=P-674-D.jpg / P-674-D_en-US.jpg

6 / 6
21



P-674-E - BASE & CENTER ASSEMBLY

P-674-E
BASE & CENTER ASSEMBLY

Количество: 1

 

9SG6490-5
BASE & CENTER ASSEMBLY

Количество: 1

1 9SG6446
BASE

Количество: 1

2A 9SL13138
CORNER CAP

Количество: 4

2B 9SS9262-183
PLAIN WASHER

Количество: 6

2C 9SS9225-91
THREAD FORMING SCREW

Количество: 6

3A 9ST9764-6
INSULATING WASHER

Количество: 2

3B 9SS10404-139
RESISTOR

Заменена
Количество: 1

9ST11827-59
CARRIAGE BOLT

Количество: 2

3D 9SS9262-98
PLAIN WASHER

Количество: 2

1 / 6
22



P-674-E - BASE & CENTER ASSEMBLY

P-674-E
BASE & CENTER ASSEMBLY

Количество: 1

 

3E 9SE106A-2
LOCK WASHER

Количество: 2

3F 9SCF000017
1/4-20HN

Количество: 2

6A 9SS6602-30
SHUNT ASBLY

Количество: 1

6B 9ST11827-26
CARRIAGE BOLT

Заменена
Количество: 1

9SS9262-30
PLAIN WASHER

Количество: 1

9SE106A-3
LOCK WASHER (5/16)

Количество: 1

9SCF000029
5/16-18HN

Количество: 1

7A 9SS9225-100
#10-24X.75 SCREW

Количество: 2

9SS9262-27
PLAIN WASHER

Количество: 2

2 / 6
23



P-674-E - BASE & CENTER ASSEMBLY

P-674-E
BASE & CENTER ASSEMBLY

Количество: 1

 

9SE106A-1
LOCK WASHER

Количество: 2

9SCF000010
#10-24HN-4265

Количество: 2

8A 9SL15821
CHOKE ASBLY

Количество: 1

8B 9SS9225-91
THREAD FORMING SCREW

Количество: 4

9SS9262-98
PLAIN WASHER

Количество: 4

9ST11827-26
CARRIAGE BOLT

Заменена
Количество: 1

9SS9262-30
PLAIN WASHER

Количество: 1

9SE106A-3
LOCK WASHER (5/16)

Количество: 1

9SCF000029
5/16-18HN

Количество: 1

3 / 6
24



P-674-E - BASE & CENTER ASSEMBLY

P-674-E
BASE & CENTER ASSEMBLY

Количество: 1

 

10A 9SL15816
OUTPUT RECTIFIER SUB-ASSEMBLY

Количество: 1

11A 9SG6453
TRANSFORMER ASBLY

Количество: 1

13A 9SCF000028
5/16-18X1.25HHCS

Количество: 2

9SS9262-30
PLAIN WASHER

Количество: 4

9SE106A-3
LOCK WASHER (5/16)

Количество: 2

13D 9SCF000029
5/16-18HN

Количество: 2

15A 9SG7485
SWITCHBOARD ASBLY

Заменена
Количество: 1

15B 9SS9225-90
THREAD FORMING SCREW

Количество: 2

4 / 6
25



P-674-E - BASE & CENTER ASSEMBLY

P-674-E
BASE & CENTER ASSEMBLY

Количество: 1

 

5 / 6
26



P-674-E - BASE & CENTER ASSEMBLY

P-674-E
BASE & CENTER ASSEMBLY

Количество: 1

 

Лист: P-674-E.jpg
x-wc://file=P-674-E.jpg / P-674-E_en-US.jpg

6 / 6
27



P-674-F - CASE BACK ASSEMBLY

P-674-F
CASE BACK ASSEMBLY

Количество: 1

 

9SG6885-1
CASE BACK ASSEMBLY

Количество: 1

1 9SG6455
CASE BACK

Количество: 1

2A 9SM22071
FAN

Количество: 1

3 9SM22463
HANDLE SUPPORT BRACKET

Количество: 1

4A 9SG6525-3
HANDLE

Заменена
Количество: 1

4B 9SS9225-91
THREAD FORMING SCREW

Количество: 4

9SS18250-974
PLUG & LEAD ASBLY

Количество: 1

8A 9SS19999
CORD GRIP CONNECTOR

Количество: 1

8B 9ST14370-3
CONDUIT LOCKNUT

Количество: 1

1 / 4
28



P-674-F - CASE BACK ASSEMBLY

P-674-F
CASE BACK ASSEMBLY

Количество: 1

 

9SS9262-183
PLAIN WASHER

Количество: 2

9SS9225-91
THREAD FORMING SCREW

Количество: 2

11 9SS22752-22
RATING PLATE

Количество: 1

2 / 4
29



P-674-F - CASE BACK ASSEMBLY

P-674-F
CASE BACK ASSEMBLY

Количество: 1

 

3 / 4
30



P-674-F - CASE BACK ASSEMBLY

P-674-F
CASE BACK ASSEMBLY

Количество: 1

 

Лист: P-674-F.jpg
x-wc://file=P-674-F.jpg / P-674-F_en-US.jpg

4 / 4
31



P-674-G - WRAPAROUND ASSEMBLY

P-674-G
WRAPAROUND ASSEMBLY

Количество: 1

 

1A 9SG6450
LEFT CASE SIDE

Количество: 1

9ST10097-3
SPEED NUT

Количество: 2

1D 9SS9225-91
THREAD FORMING SCREW

Количество: 4

9SS9262-183
PLAIN WASHER

Количество: 4

1F 9SG6451
RIGHT CASE SIDE

Количество: 1

2A 9SG6452
CASE TOP WRAPAROUND

Количество: 1

5 9SG6890-6
WIRING DIAGRAM

Количество: 1

6 9SS22127-2
DECAL-WARRANTY

Количество: 1

7 9SS28039-2
DECAL GREEN INITIATIVE

Количество: 1

1 / 4
32



P-674-G - WRAPAROUND ASSEMBLY

P-674-G
WRAPAROUND ASSEMBLY

Количество: 1

 

8 9SS27368-4
DECAL, LECO LOGO

Количество: 2

9 9SM22461
FLEXTEC DECAL

Количество: 2

10 9SL8064-1
WARNING LABEL (INTERNATIONAL)

Количество: 1

2 / 4
33



P-674-G - WRAPAROUND ASSEMBLY

P-674-G
WRAPAROUND ASSEMBLY

Количество: 1

 

3 / 4
34



P-674-G - WRAPAROUND ASSEMBLY

P-674-G
WRAPAROUND ASSEMBLY

Количество: 1

 

Лист: P-674-G.jpg
x-wc://file=P-674-G.jpg / P-674-G_en-US.jpg

4 / 4
35


	Contents
	P-674-A - INDEX OF SUB ASSEMBLIES
	P-674-C - CASE FRONT ASSEMBLY & DOOR
	P-674-D - DIVIDER PANEL ASSEMBLY
	P-674-E - BASE & CENTER ASSEMBLY
	P-674-F - CASE BACK ASSEMBLY
	P-674-G - WRAPAROUND ASSEMBLY


